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(
L
T
Y) =

sin(α1) −cos(α1) R
sin(α2) −cos(α2) R
sin(α3) −cos(α3) R

−1

.
H1
H2
H3

ETMX:geometrical sensing matrix

ITMX:geometrical sensing matrix

(
L
T
Y) =

−sin(α1) cos(α1) R
−sin(α2) cos(α2) R
−sin(α3) cos(α3) R

−1

.
H1
H2
H3

α1 = 264
α2 = 144
α3 = 24 R = 0.5940m

α1 = 84
α2 = 324
α3 = 204 R = 0.5940m



ITMY:geometrical sensing matrix

(
L
T
Y) =

cos(α1) sin(α1) R
cos(α2) sin(α2) R
cos(α3) sin(α3) R

−1

.
H1
H2
H3

α1 = 354
α2 = 234
α3 = 114 R = 0.5940m

ETMY:geometrical sensing matrix

α1 = 174
α2 = 54
α3 = 294 R = 0.5940m

(
L
T
Y) =

−cos(α1) −sin(α1) R
−cos(α2) −sin(α2) R
−cos(α3) −sin(α3) R

−1

.
H1
H2
H3


